 t(minutes) |0 4 % 15 20
LWt 550 ( 57.1| 61.8 1 67.9 | 71.0
| degrees F

2012 #1

The temperature of water in a tub at llmb L is modeled by ¢ ice
A1) s s+ and t is

differentiable function, W, wher measured in de
measured in minutes, At timat = 0, the temperature of the water is 55° F. The water
is heated for 30 minutes, beginning at ime t = (). "Values of W(l) at selected times t
for the first 20 minutes are given in the table above.

c) For 0 < 1 < 20.the ayerage temperature of the water in the tub is

%Im W(f)dt. Use a left Riemann sum with four subintervals indicated by the data
L]

: : 1 p20 : B = ,
in the table to approximate 5% J. W(t)dr. Does this approximation overestimate or
(4] D —

underestimate the average temperature of the water over these 20 minutes? Explain
your reasoning.

A\ 20 5’} l5‘*ib‘|%ﬁs"
5 om(OA’c"" feafeos (449 (-9 11

yaderestimale L’IC Wlt)
(5 §1cr]c“»\imrw6'm')
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!

(minutes)
v(r)

(meters per minute)

2015 BC3: Johanna jogs along a straight path. For 0=7<40, Johanna's velocity is
given by a differential function v. Selected values of v(1), where t is measured in
minutes and v(t) is measured in meters per minute, are given in the table above.

A) Use the data in the table to estimate the value of V'(16)

l Ho- R0O
g [lb):- AH0

ek s
42 au-\1

Ig 'JCI'-? - S(:‘"\) B) Using correct units, explain the meaning of the definite integral j::"|v{rl|ad: in the

o

ml“"““ mekers

i
context of the problem. Approximate the value of L |-.‘{|.r]|n'r using a right Riemann

sum with four sub-intervals indicated in the table.

S-:D\\r(.au-t = Tl\t Ltal distanct jarﬁ(}{-\tﬁ In “elgpj

-Frpm 044 .."::U‘Dmin.v 5.
L. 1w )/DHO(V(-E)M% & [Lw_;_;_h(lggb 4¥1l-l-20) (_nﬁ\-}(lo—u){l‘-lﬂ l-ﬁ'l«u){lﬂh)

C) Bob is riding his bicycle along the same path. For 0<¢<10. Bob's velocity 1s
modeled by B(t) = t' — 6% + 300, where t is measured in minutes and B(t) is
measured in meters per minute, Find Bob's acceleration at time t = 5.

o \/5 Bl(_e'):gt?_‘_\zt
\ R (S) & 3(5)2—' '12.(%\

D) Based on the model B from part (c), find Bo uring the
interval 0<r<10.

10
R =4 3 5300 «-'—f
10Jp

@”—uf’wsnﬂdt

1 [(14% 2 Cesont ]
lDL = -
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Left and right Riemann sums

Right Rismann Sum

Left Riemann Sum

Correct justification for over and under approximartions:

Ax) Left Riemann Sum Right Riemann Sum

e o Under approximares the area | Over approximares the area
Tosisating {05 =) because f1x) is increasing because fix) is increasing

: o Over approximates the area | Under approximates the area
Dissewu F10=9) because fix) is decreasing because f{x] 1s decreasing

Iicorrect Reasoning: The left Riemani Sum is an under approvimaiion becanse the
rectangles ave all imdemeath or below the graph. Staring that the rectangles are belaw
the fintction is not acceptable mathematical reasoning. It merely resrates that ir is an
rnder approximation bur does not explain WHY.

Trapezoidal approximations

Over/Under Approximations with Trapezoidal Approximations

1x) Trapezoidal Sum
Concave Up (f"(x) > 0) Over‘:ecausel?f(:; I“h; i

Under approximates the area
because f'(x) <0

Concave Down (f"(x) < 0)
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